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Implementation via Circular Convolution
If b and s have length K and L (respectively), then

bxs [b;0r,1]®[s;0x_1]

K-1 K-1
‘0 0| S S| 0 0‘
b, b, bo‘o 0‘
K-1
So Spa| 0 0‘
by| 0 0 |be, ‘b,‘

Recall: i entry of x®y = dot product of P/(Rx) and y



Implementation via Circular Convolution
If b and s have length K and L (respectively), then

bxs [b ; OL—l] @[S ; OK—l]

K-1 K-1
TR— 3
‘bm b, B 0 o‘

K-1
So S| 0 O‘
o KR 0 [bes | 5]

Recall: i entry of x®y = dot product of P/(Rx) and y



Implementation via Circular Convolution
If b and s have length K and L (respectively), then

bxs [b ; OL—l] @[S ; OK—l]

K-1 K-1
E T ]
[ 0 b 5, Y o 0|
K-1
[ ]o 0]
b, b, WU 0 |bg, b,

Recall: i entry of x®y = dot product of P/(Rx) and y



Implementation via Circular Convolution
If b and s have length K and L (respectively), then

bxs [b ; OL—l] @[S ; OK—l]

K-1 K-1
‘ 0 [ 5, S, S| 0 0 ‘
‘ 0 0 |bgy b,. |4 b, iKY 0 ‘
K-1
b, ... b, Y S 0 |bgy| - |bps

Recall: i entry of x®y = dot product of P/(Rx) and y



Implementation via Circular Convolution
If b and s have length K and L (respectively), then

bxs [b ; OL—l] @[S ; OK—l]

K-1 K-1
ER—— m
‘o o Pm ‘bo‘

K-1
R H

Recall: i entry of x®y = dot product of P/(Rx) and y



Implementation via Circular Convolution
If b and s have length K and L (respectively), then

bxs = [b ; OL_1]®[S 5 OK—I]

K-1 K-1
ER—— m
‘o o Pm ‘bo‘

K-1
R H

Recall: i entry of x®y = dot product of P/(Rx) and y



Implementation via Circular Convolution
If b and s have length K and L (respectively), then

bxs = [b ; OL_1]®[S 5 OK—I]

K-1 K-1
‘ 0 [ 5, S, S| 0 0 ‘
‘ 0 0 |bgy b,. |4 b, iKY 0 ‘
K-1
b, ... b, Y S 0 |bgy| - |bps

(Recall: 7™ entry of x®y = dot product of P/(Rx) and y)





